/

)H13 Hi5

16.7

(

—

63.0
Y5 H7
km

i
16.7 /

,

~N

km

58.6 km/h
YH17

(

63.0 /

—

46.6
)H6

=
X
— — :
[&=le -
" ||
e oo
=|E P #
4 |40 T T
| ; —
o Gl s TR |
I, I 1
............. 7 fIS<| ~
| = __ | 0"8
| . e
1 o<t
I — (o))
1 1 N
1 1 <t
1 NN "
~~ <t
1
| | ~
i
S B :
~
~
S I
1
...... & N
~N A~
MOHILA0 N e T
() REWTHRT wlo| N N
WL WARSLm | T
KEZH-n| 2o ~
'
1
| | ~
- 1
= - oI~
e |- @ s
K| e 3
L 1
= 1
* /_"/_ ~
WOESUD I it 12 40 i " 1
(M) R RKRENKE ~A~
. N % P |
& b o5 i
m 3 f!\_ -t —-—-—-=-=--4
- ¥ &
-= 1 1
1 1 -~ -~
1 1
| | NS
1 1
| | ~
| |
1 1
- = 1 1
1 1 1 ~
1 1 1
||||||||||||| 1 1 1
1 1 1
1 1 1
1 1 1 |
1 1 1
1 1 1
1 1 1
1 1 1




(H6) 42

—

(H16) 268




